PINELLAS COUNTY BOARD OF COUNTY COMMISSIONERS 400 S. FT. HARRISON AVENUE ANNEX BUILDING – 6TH FLOOR CLEARWATER, FL 33756



INVITATION TO BID

BID NUMBER: 21-0708-CP(AJM)

ISSUE DATE:	TITLE 6			
September 10, 2021	IIILE: C	Dakwood Drive Bridge I	Replacem	nent (PID #001035A)
SUBMITTAL DUE: STE	D 41 C	tombox 20, 2004	0.042	Step 2 Bid Opening Public Meeting @ 3:30 https://us06web.zoom.us/j/82799862398?pwd=Mkxt RmpCekowTDY3cVJCbVZxNUVTQT09
SUDIVILLIAL DUE: ST	ED 2: Octo	tember 30, 2021 @ 3:0 ober 14, 2021 @ 3:00 I	O P.IVI.	Meeting ID: 827 9986 2398
311	-P 2. UCTO	Ober 14, 2021 @ 3:00 l	IVI	
				Passcode: 342918 One tap mobile +13126266799,,82799862398# US (Chicago) +19292056099,,82799862398# US (New York)
AND MAY NOT BE WITHDRAWN FOR SUBMITTALS RECEIVED AFTER SUI WILL BE RETURNED	R 120 <i>DAYS FI</i> BMITTAL DAT	ROM DATE LISTED ABOVE. BID FE & TIME WILL NOT BE ACCEPTE	D AND	PRE-BID DATE & LOCATION: NOT APPLICABLE
DEADLINE FOR WRITTEN G		SUBMIT QUESTIONS: A	ALL	
September 30, 2021 BY	3:00 P.M.	QUESTIONS MUST BE SUBMITTED IN PINELLA WITHIN THE Q & A TAB		
Engineering Estimate \$2,487,796	.50	THE MISSION OF PINELLAS		
Plans Prepared by: HDR Enginee	ering, Inc.	Pinellas County Government is co progressive public policy, super	ior public	Merry Celeste
service, c		service, courteous public contact exercise of authority and sound ma	, judicious	MERRY CELESTE, CPPB
Engineer/Project Manager is: An Vosouli, P.E.	nin	public resources to meet the ne	eeds and	Division Director
		concerns of our citizens today and	tomorrow.	Purchasing and Risk Management
THIS BID FORM, YOU ARE ATTES AND CONDITIONS, INCLUDING AI BIDDER (COMPANY NAME):	TING TO YOU INSURANCE SW 15 M hocgo to you call where the sunbiz.org for YALL TERI	TEIN# 75 - 29 3152 en you submit your bid, information.	DIBYAND AF DIBYA CITY / STA PHN: (6) CONTACT PRINT NAI	NAME: MARTIN HUTTED NORESS: Magging Colors TEIZIP MIAMI, FL 3 3181 NAME: MARTIN HUTTED NAME: Magging Colors. Colors NAME: Magging Colors
THIS INVITATION TO BID REQUIREMENTS & CERTIFY I.				
FOR THE SUBMITTER.	AWAUTHO	MILED TO SIGN THIS BID		
AUTHORIZED SIGNATURE:	\mathcal{N}			
PRINT NAME/TITLE:	ZYN	HOEBS IVD		

SEALED BID • DO NOT OPEN

SEALED BID NO.: 21-0708-CP(AJM)

BID TITLE: Oakwood Drive Bridge Replacement (PID

#001035A)

DUE DATE/TIME: STEP 1:September 30, 2021 @ 3:00 p.m.

STEP 2:October 14, 2021 @ 3:00 p.m.

SUBMITTED BY: AMERICAN FM PIR & BUILDERS, MC

(Name of Company)

Please Note:

From time to time, addenda may be issued to this bid. Any such addenda will be posted on the same Web site, www.pinellascounty.org/purchase/Current Bids1.htm, from which you obtained this bid.

Before submitting your bid you should check our Web site to download any addenda that may have been issued. Please remember to sign and return Addenda Acknowledgement Form with completed bid package if applicable.

AMERICAN EMPIRE BUILDIERS, Inc

21-0708-CP(AJM)

Page 51 of 76

SECTION E - BID SUBMITTAL FORM QUALIFICATION SUBMITTAL FORM

STEP 1

If you are currently a pre-qualified construction contractor with Pinellas County or FDOT in the applicable work type, please only fill out the lines below.

If you are not pre-qualified with Pinellas County or FDOT, please complete all prequalification items listed below and include all Qualification Submittal Forms.

I am currently a Pre-qualified contractor with Pinellas County (check box if applicable) in Fixed Bridge and Road, Street and Storm Sewer work class.

X

<u>I am Pre-qualified with FDOT in the following work class(s) (check box if applicable and fill in work classes below) in</u>

Minor Bridges work class.

Signature by Contractor for Part A Only:

Part B

Applicable only for contractors who are not pre-qualified with Pinellas County or FDOT

The invitation to bid for this Project requires that this qualification submittal be included with the proposal and completed in its entirety.

A component of the Pre-Qualification of Bidder process is background check and review. If you are not currently prequalified with Pinellas County or FDOT please provide the following documentation and include with Qualification Submittal Forms by Step One due date on page 1.

- 1. Fill in County Work Class(s) (outlined below)
- 2. Provide an affidavit that vendor has not been debarred or suspended with another public entity.
- 3. Provide a bonding letter from surety or a letter of parent guarantee indicating at a minimum the maximum amount of the engineers estimate on page 1.
- 4. Provide proof your company is registered with the State of Florida, Division of Corporations
- 5. Provide proof your company is registered with Pinellas County Construction Licensing Board (PCCLB) *if applicable
- 6. Provide experience qualifications on forms below outlining projects of a similar size and scope
- 7. Provide a minimum of four (4) reference letters from companies whom which you have performed projects of a similar size and scope.

Work Types your company is qualified to perform - *Check all boxes that apply

County Work Classes

☐ Bascule Bridge	☐ Fixed Bridge	☐ Roofing
☐ Bridge Repair	☐ Marine	☐ Well Drilling
☐ Building	☐ Mechanical	☐ Water and Sanitary Sewer
□ Electrical	☐ Road, Street, Storm Sewer	

^{**}If any of the above conditions are not met, your company will be disqualified from moving forward with Step Two.**



Florida Department of Transportation

RON DESANTIS GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

June 8, 2021

AMERICAN EMPIRE BUILDERS, INC. 13775 SW 145 CT MIAMI, FLORIDA 33186

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2022. However, the new application is due 4/30/2022.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual <u>financial</u> statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwp1.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES:

DRAINAGE, INTERMEDIATE BRIDGES, MINOR BRIDGES, R&R INTERMEDIATE BRIDGES ("R&R" IS REPAIR AND REHABILITATE), R&R MINOR BRIDGES, SIDEWALK, Retaining Walls, Rip Rap, Seawalls, Steel sheet piles.

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Darlens Anderson, for

Alan Autry, Manager Contracts Administration Office

AA:cg

SEALED BID . DO NOT OPEN

SEALED BID NO.: 21-0708-CP(AJM)

BID TITLE: Oakwood Drive Bridge Replacement (PID

#001035A)

DUE DATE/TIME: STEP 1:September 30, 2021 @ 3:00 p.m.

STEP 2:October 14, 2021 @ 3:00 p.m.

SUBMITTED BY: AMERICAN EMPIRE BUILDERS, INC.

(Name of Company)

Please Note:

From time to time, addenda may be issued to this bid. Any such addenda will be posted on the same Web site, www.pinellascounty.org/purchase/Current_Bids1.htm, from which you obtained this bid.

Before submitting your bid you should check our Web site to download any addenda that may have been issued. Please remember to sign and return Addenda Acknowledgement Form with completed bid package if applicable.

REVISED: 06-2021

PINELLAS COUNTY BOARD OF COUNTY COMMISSIONERS 400 S. FT. HARRISON AVENUE ANNEX BUILDING – 6TH FLOOR CLEARWATER, FL 33756



INVITATION TO BID

BID NUMBER: 21-0708-CP(AJM)

ISSUE DATE:

September 10, 2021

TITLE: Oakwood Drive Bridge Replacement (PID #001035A)

ocptomber 10, 2021			THE MAN PERSON TO MANUAL DESCRIPTION OF THE SECOND PROPERTY OF THE S
		mber 30, 2021 @ 3:00 P.M. er 14, 2021 @ 3:00 P.M	Step 2 Bid Opening Public Meeting @ 3:30 https://us06web.zoom.us/j/82799862398?pwd=Mkxt RmpCekowTDY3cVJCbVZxNUVTQT09 Meeting ID: 827 9986 2398
			Passcode: 342918 One tap mobile +13126266799,,82799862398# US (Chicago) +19292056099,,82799862398# US (New York)
AND MAY NOT BE WITHDRAWN FOR SUBMITTALS RECEIVED AFTER SUB WILL BE RETURNED		M DATE LISTED ABOVE. BID & TIME WILL NOT BE ACCEPTED AND	PRE-BID DATE & LOCATION: NOT APPLICABLE
DEADLINE FOR WRITTEN QU September 30, 2021 BY		SUBMIT QUESTIONS: ALL QUESTIONS MUST BE SUBMITTED IN PINELLAS EPRO WITHIN THE Q & A TAB.	
Engineering Estimate \$2,487,796. Plans Prepared by: HDR Engineer	F	THE MISSION OF PINELLAS COUNTY Pinellas County Government is committed to progressive public policy, superior public	_ Marry Celeste
Engineer/Project Manager is: Am Vosouli, P.E.	nin ex	service, courteous public contact, judicious service of authority and sound management of public resources to meet the needs and	MERRY CELESTE, CPPB Division Director Purchasing and Risk Management

BIDDER MUST COMPLETE THE FOLLOWING

NO CHANGES REQUESTED BY A BIDDER WILL BE CONSIDERED AFTER THE BID OPENING DATE AS ADVERTISED. BY SIGNING THIS BID FORM, YOU ARE ATTESTING TO YOUR AWARENESS OF THIS POLICY AND ARE AGREEING TO ALL OTHER BID TERMS AND CONDITIONS, INCLUDING ALL INSURANCE REQUIREMENTS.

BIDDER (COMPANY NAME): AMERICAN EMPIRE BUILDERS, INC	D/B/A
MAILING ADDRESS: 13775 SW 145TH CT, SUITE B	
COMPANY EMAIL ADDRESS: MHOEGG@AEB-US.COM	
*REMIT TO NAME: AMERICAN EMPIRE BUILDERS, INC.	PHN: (305) 261-9276 FAX: ()
(As Shown On Company Invoice) FEIN#75-2993152	CONTACT NAME: MARTIN HOEGG
Proper Corporate Identity is needed when you submit your bid, specifically how your firm is registered with the Florida Division of	PRINT NAME:
Corporations. Please visit <u>www.sunbiz.org</u> for this information.	EMAIL ADDRESS: MHOEGG@AEB-US.COM
I HEREBY AGREE TO ABIDE BY ALL TERMS AND CONDITIONS OF THIS INVITATION TO BID, INCLUDING ALL INSURANCE REQUIREMENTS & CERTIFY I AM AUTHORIZED TO SIGN THIS BID FOR THE SUBMITTER. AUTHORIZED SIGNATURE:	
PRINT NAME/TITLE: ANTONIO M. GONZALEZ-PRESIDENT	

REVISED: 06-2021

SECTION E -BID SUBMITTAL FORM:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid Number: 21-0708-CP(AJM)

(Schedule of Values)

PLEASE REFER TO THE ATTACHMENT TITLED SECTION E - BID SUBMITTAL SHEETS (MICROSOFT EXCEL)

BID SUBMITTAL IS TO BE SUBMITTED IN EXCEL FORMAT

NO CHANGES SHALL BE MADE TO THE PAY ITEM QUANTITIES CONTAINED HEREIN.
ANY CORRECTIONS TO BIDDER ENTRIES SHALL BE MADE IN INK AND SHALL BE INITIALED BY BIDDER.

W9

Substitute Request for Taxpayer Give form to the requester. Do not Identification Number and Certification send to the IRS. Name (as shown on your income tax return) Business name, if different from above AMERICAN EMPIRE BUILDERS, INC. ë Print or type Specific Instructions Check appropriate box: Individual/Sole proprietor Corporation Parlnership Exempt Limited liability company. Enter the tax classification (D=disregarded entity, C=corporation, P=partnership) ▶ ... Dayee Other (see instructions) Address (number, street, and apt. or suite no.) Requester's name and address (optional) 13775 SW 145TH CT, SUITE B City, state, and ZIP code MIAMI, FL 33186 List account number(s) here (optional) Part I **Taxpayer Identification Number (TIN)** Social security number Enter your TIN in the appropriate box. The TIN provided must match the name given on Line 1 to avoid backup withholding. For individuals, this is your social security number (SSN). However, for a resident allen, sole proprietor, or disregarded entity, see the Part I instructions on page 3. For other entitles, it is your employer identification number (EIN). If you do not have a number, see How to get a TIN on page 3. or Note. If the account is in more than one name, see the chart on page 4 for guidelines on whose Employer identification number number to enter, 75 2993152 Certification Part II

Under penalties of perjury, I certify that:

- 1. The number shown on this form is my correct taxpayer identification number (or I am waiting for a number to be issued to me), and
- I am not subject to backup withholding because: (a) I am exempt from backup withholding, or (b) I have not been notified by the internal Revenue Service (IRS) that I am subject to backup withholding as a result of a failure to report all interest or dividends, or (c) the IRS has notified me that I am no longer subject to backup withholding, and
- 3. I am a U.S. citizen or other U.S. person (defined in the instructions).

Certification instructions, You must cross out item 2 above if you have been notified by the IRS that you are currently subject to backup withholding because you have failed to report all interest and dividends on your tax return. For real estate transactions, item 2 does not apply. For mortgage interest paid, acquisition or abandonment of secured property, cancellation of debt, contributions to an individual retirement arrangement (IRA), and generally, payments then interest and dividends, you are not required to sign the Certification, but you must provide your correct TIN. See the batructions on page

Sign	//			
Gian	Signature of	UNI II.	1	40/40/004
Here	U.S. person >			Date ► 10/13/2021
			~#####################################	

*Instructions to Form W-9 available upon request.

Detach on the perforation

Section 119.071(5), Florida Statutes Notice:

Your Tax Identification Number (which for individuals is your social security number) is collected on Form W9 for use in filing information returns with the IRS as described more fully below. Collection of the tax identification number (or social security number as applicable) is mandatory pursuant to Section 6109 of the Internal Revenue Code (26 U.S.C § 6109).

Privacy Act Notice:

Section 6109 of the Internal Revenue Code requires you to provide your correct TIN to persons who must file information returns with the IRS to report interest, dividends, and certain other income paid to you, mortgage interest you paid, the acquisition or abandonment of secured property, cancellation of debt, or contributions you made to an IRA, or Archer MSA or HSA. The IRS uses the numbers for identification purposes and to help verify the accuracy of your tax return. The IRS may also provide this information to the Department of Justice for civil and criminal litigation, and to cities, states, the District of Columbia, and U.S. possessions to carry out their tax laws. We may also disclose this information to other countries under a tax treaty, to federal and state agencies to enforce federal nontax criminal laws, or to federal law enforcement and intelligence agencies to combat terrorism.

You must provide your TIN whether or not you are required to file a tax return. Payers must generally withhold 28% of taxable interest, dividend, and certain other payments to a payee who does not give a TIN to a payer. Certain penalties may also apply.

REVISED: 06-2021

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid Number: 21-0708-CP(AJM)

ELECTRO	ONIC PAYN	IENT (EP	AYABLES):
---------	-----------	----------	-----------

SE BET LIGHT CONTROL OF THE SECOND CONTROL O
The Board of County Commissioners (County) is offering faster payments. The County would prefer to make payment using credit card.
Would your company accept to participate in the ePayables credit card program?
Yes ☐ No ☒
For more information about ePayables credit card program please visit Purchasing Department website www.pinellascounty.org/purchase .

Company Name AMERICAN EMPIRE BUILDERS, INC.

Printed Signature ANTONIO M. GONZALEZ-PRESIDENT

QUALIFICATION SUBMITTAL FORM (continued)

Applicable only for contractors who are not pre-qualified with Pinellas County or FDOT

The invitation to bid for this Project requires that this qualification submittal be included with the proposal and completed in its entirety.

	Vendor Information	on	
Firm Name: AMERICAN EMPIRE BUILDERS, II	NC.		
Street Address: 13775 SW 145TH CT, SUITE B	City: MIAMI	State: FL	ZIP: 33186
Additional Info:			

Officer/Director Information						
Officer/Director/Member:	Title:	DOB:	SSN:			
ANTONIO M. GONZALEZ	PRESIDENT	06/13/1967	XXX-XX-6012			
Notes:	Notes:					
Officer/Director/Member:	Title:	DOB:	SSN:			
GISEL GONZALEZ	SEC/TREAS	02/18/1975	XXX-XX-9571			
Notes:						
Officer/Director/Member:	Title:	DOB:	SSN:			
Notes:						
Officer/Director/Member:	Title:	DOB:	SSN:			
Notes:						
Officer/Director/Member	Title:	DOB:	SSN:			
Notes:						
Additional Information: (On Vendor or Contract	Requirements)					

BID SUBMITTAL OFFICERS FORM

BID TITLE: Oakwood Drive Bridge Replacement (PID #001035A)

BID NUMBER: 21-0708-CP(AJM)

Each Bid by an individual or firm shall state the name and address of each person who owns an interest therein, and, if any corporation, the name and addresses of its officers, or if an LLC, the name and address of its members. Bids shall be signed by the person or member of the firm making the same, and if a corporation, by an authorized officer or agent, subscribing the name of the corporation, together with his own name and the corporate seal.

The Bidder further agrees to execute the Agreement within ten (10) calendar days after receipt of notice of award, and within the time frame of Section H – Agreement.

The Bidder further agrees to bear the full cost of maintaining all Work until the final acceptance.

Accompanying the Bid is a Bid Guarantee, meeting the requirements described in the Instruction to Bidders.

The Contractor's address and principal place of business is:

AMERICAN	I EMPIRE BUILDERS, INC.	
13775 SW	145TH CT, SUITE B MIAMI, FL 33	3186
If Contractor is a	Corporation, list the names, titles and busines	ss addresses of its President, Secretary and Treasurer.
PRESIDENT	ANTONIO M. GONZALEZ	ADDRESS:
,	Printed Name	13775 SW 145TH CT, SUITE B MIAMI, FL 33186
SECRETARY	GISEL GONZALEZ Printed Name	ADDRESS: 13775 SW 145TH CT, SUITE B MIAMI, FL 33186
TREASURER	GISEL GONZALEZ Printed Name	ADDRESS: 13775 SW 145TH CT, SUITE B MIAMI, FL 33186

21-0708-CP(AJN)
----------------	---

Page 58 of 76

SECTION E - BID SUBMITTAL FORM

Said Corporation is qualified to do business in the State of Florida.

AMERICAN EMPIRE BUILDERS, INC.

Corporation Name

Ву

President

SEAL

****CORPORATE SEAL

****CORIDA

Qualifung Agent

CGC-1504911

Contractor's Registration or Certificate No. issued by the State of Florida

If Contractor is	s not a corporation, list the name(s) and bus	ness address(es) of its owner(s), joint venturers or partners:		
Name		ADDRESS:		
	Printed Name			
Name	Printed Name	ADDRESS:		
Name	Printed Name	ADDRESS:		
The said comp	any or business entity is a sole proprietorshi	o, partnership, or joint venture and is trading and doing business as		
		Company Name		
		By:		
		Name of Firm or Qualifying Agent		
		Contractor's Registration or Certification No. issued by the State of Florida		

FLORIDA TRENCH SAFETY ACT

CERTIFICATION AND DISCLOSURE STATEMENT

The undersigned acknowledges the requirements of the Florida Trench Safety Act (Section 553.60 et. seq. Florida Statutes).

- A. The Bidder further acknowledges that the Florida Trench Safety Act, (the Act) establishes the Federal excavation safety standards set forth at 29 C.F.R. Section 1926.650 Subpart P, as the interim state standard until such time as the state of Florida, through its Department of Labor and Employment Security, or any successor agency, adopts, updates, or revises said interim standard. This State of Florida standard may be supplemented by special shoring requirements established by the State of Florida or any of its political subdivisions.
- B. The Bidder, as Contractor, shall comply with all applicable excavation/trench safety standards.
- C. The contractor shall consider the geotechnical data available from the County, if any, the Contractor's own sources, and all other relevant information in its design of the trench safety system to be employed on the subject Project. The Contractor acknowledges sole responsibilities for the selection of the data on which it relies in designing the safety system, as well as for the system itself.
- D. The amounts that the Bidder has set forth for pipe installation includes the following excavation/trench safety measures and the linear feet of trench excavated under each safety measure. These units, costs, and unit values shall be disclosed solely for the purpose of compliance with procedural requirements of the Act. No adjustment to the Agreement Time or price shall be made for any difference in the actual number of linear feet of trench excavation, except as may be otherwise provided in these Contract Documents.

	Trench Safety Measure (Description)	Units of Measure (LF, SF)	Unit (Quantity)	Unit Cost	Extended Cost
1.	Trench Safety FALL PROTECTION	<u>L</u> F	200	_{\$} 10.00	\$ 2,000.00
2.				\$	\$
3.				\$	\$
4.				\$	\$
5.				\$	\$

For Information Only, Not for Payment Purposes

\$ 2,000.00

Bidder may use additional sheets as necessary to extend this form. Failure to complete the above may result in the bid being declared non-responsive.

- E. The amount disclosed as the cost of compliance with the applicable trench safety requirements does not constitute the extent of the Contractor's obligation to comply with said standards. The Contractor shall extend additional sums at no additional cost to the County, if necessary, to comply with the Act (except as otherwise be provided).
- F. Acceptance of the bid to which this certification and disclosure applies in no way represents that the County or its representatives has evaluated and thereby determined that the above costs are adequate to comply with the applicable trench safety requirements nor does it in any way relieve the Contractor of its sole responsibility to comply with the applicable trench safety requirements.

AMERICAN EMPIRE BUILDERS, INC.	
Company Name	
ANTONIO M. GONZALEZ-PRESIDENT	Andles
Name and Title	
	305-781-2696
Address:	Telephone/Fax
13775 SW 145TH CT, SUITE B MIAMI, FL 33186	75-2993152
	Federal Employee ID NO. (FEIN)
	GGONZALEZ@AEB-US.COM
	Email of Account Representative

SECTION F ADDENDA ACKNOWLEDGEMENT FORM

SECTION F - ADDENDA ACKNOWLEDGEMENT FORM:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

PLEASE ACKNOWLEDGE RECEIPT OF ADDENDA FOR THIS ITB BY SIGNING AND DATING BELOW:

ADDENDUM NO.	SIGNATURE PRINTED NAME	DATE RECEIVED
1-Amendment Appe	ndix 6 Intillization	09/13/2021
	ANTONIO M. GONZALEZ PRESIDENT	

Note: Prior to submitting the response to this solicitation, it is the responsibility of the firm submitting a response to confirm if any addenda have been issued. If such addendum(s) has been issued, acknowledge receipt by signature and date in this section. Failure to do so may result in being considered non-responsive.

Information regarding Addenda issued is available on the Purchasing Department's website at, www.pinellascounty.org/purchase/Current Bids1.htm , listed under category 'Current Bids'.

SECTION G STATEMENT OF NO BID

SECTION G - STATEMENT OF NO BIDS:

NOTE: If you do not intend to bid on this requirement, please complete this form. Thank you.

We, the undersigned have declined to submit a bid for No. 21-0708-CP(AJM) for Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Specifications too "tight", i.e Insufficient time to respond We do not offer this product Our schedule would not per Unable to meet specification Unable to meet Bond requir Specifications unclear (expl Unable to Meet Insurance Remove Us from Your "Noti Other (specify below).	t or service. mit us to perform. ns. ement. ain below).
REMARKS:	N/A
We understand that if the "No Bid" letter is not Bidders List of Pinellas County.	executed and returned our name may be deleted from the
COMPANY NAME:	
DATE:	
SIGNATURE:	
TYPED NAME OF ABOVE:	
TELEPHONE:	
FMAIL	

SECTION H - AGREEMENT

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

REFER TO SAMPLE AGREEMENT ATTACHED AS A SEPARATE DOCUMENT.

REVISED: 06-2021

21-0708-CP(AJM)	Page 63 of 76	
	SECTION I - BONDS	
SECTION I -BONDS:		

The exact language in Section I must be used when submitting bonds

KNOW ALL MEN BY THESE PRESENTS: That and Located at:	, as Principal, , as Surety,
(Business Address) Are held and firmly bound unto Pinellas County, Florida, as Obligee in the sum of	(Phone Number)
DOLLARS \$ our heirs, executors, personal representatives, successors and assigns, jointly and set	For the payment whereof we bind ourselves, verally.

PERFORMANCE BOND

WHEREAS, Principal has entered into an Agreement with Obligee for Bid Title: Oakwood Drive Bridge Replacement (PID #001035A), Bid No: 21-0708-CP(AJM) in accordance with Plans and Specifications, which Agreement is incorporated by reference and made a part hereof, and is referred to as the Agreement.

THE CONDITIONS OF THIS BOND is that if Principal:

- 1. Performs the Agreement at the times and in the manner prescribed in the Agreement; and
- Pays Obligee any and all losses, damages, costs and attorneys' fees, including appellate
 proceedings, that Obligee sustains because of any default by Principal under the Agreement, including, but not limited to, all
 delay damages, whether liquidated or actual, incurred by
 Obligee; and
- 3. Performs the guarantee of all Work and materials furnished under the Agreement for the time specified in the Agreement; then this bond is void; otherwise it remains in full force.

Any changes in or under the Agreement and compliance or noncompliance with any formalities connected with the Agreement or the changes do not affect Surety's obligations under this bond.

The Surety, for value received, hereby stipulates and agrees that no changes, extensions of time, alterations or additions to the terms of the Agreement or other Work to be performed hereunder, or the Specifications referred to therein shall in anyway affect its obligation under this bond, and it does hereby waive notice of any such changes, extensions of time, alterations or additions to the terms of the Agreement or to Work or to the Specifications.

This instrument shall be construed in all respects as a statutory bond. It is expressly understood the time provisions and statute of limitation under Section 255.05 Florida Statutes, shall apply to this bond.

Jb

BOND NO. ____

21-0708-CP(AJM)		Page 64 of 76
[8] [1] [1] [1] [1] [1] [2] [2] [2] [2] [2] [2] [2] [2] [2] [2	CTION I - BONDS	BOND NO
		DOND 1101
y execution of this bond, the Surety acknowledges that is has r greement and hereby satisfies those conditions.	ead the Surety qualifications and obligation	ons imposed by the constructio
IN WITNESS WHEREOF, the above bound parties have exec	cuted this instrument this	day of
by its undersigned representative, pursuant to authority of its	he name of each party being affixed and t governing body.	hese presents duly signed
	PRINCIPAL:	
	(Authorized Signature)	
	(Print Name)	
	(Title)	
	(Business Address)	4
STATE OF FLORIDA	(Buolificos / National)	
The foregoing instrument was acknowledged before me this		
by of	, a	
Corporation, on behalf of the Corporation. He/She is personally priver's License as identification and who did (did not) take an or	known to me or has produced Florida	
	Notary:	
	Print Name:	
	Commission Number:	
	My Commission Expires:	



21-0708-CP(AJM)	Page 65 of 76
SECTION I	- BONDS
	BOND NO
	SURETY:
	(Print)
	(Business Address)
	(Dusinoss Address)
	(Signature As Attorney In Fact)
	(Attach Power of Attorney)
Witness as to Attorney In Fact	(Print Name)
The second of th	(increase)
(Print Name)	(Title)
(Fint Name)	(Tide)
	(Business Address)
	(Telephone Number)
	(Totophone Number)
STATE OF FLORIDA	
COUNTY OF	
The foregoing instrument was acknowledged before me this	3
Ву	
Of ,a	
Corporation, on behalf of the Corporation. He/She is person License as identification and who did (did not) take an oath.	nally known to me or has produced Florida Driver's
Elective as identification and who did (did not) take an bath.	•
Notary:	
Print Na	ame:
Commis	ssion Number:
My Con	nmission Expires:



21-0700-CF(AJW)	Fage to 01 70
SECTION I - BON	DS
	BOND NO
PAYMENT BOND	
BY THIS BOND, We (hereinafter called the ("Principal" and (hereinafter called the ("Surety"), located at	
A surety insurer chartered and existing under the laws of the state of and authorized to do Business in the State of Florida, are held and firmly bo (hereinafter called the "County") in the sum of	ound unto Pinellas County
DOLLARS \$	

For payment of which we bond ourselves, our heirs, our personal representatives, our successors and our assignees, jointly and severally.

WHEREAS, Principal and County have reached a mutual agreement (hereinafter referred to as the "Agreement") for **Bid Title: Oakwood Drive Bridge Replacement (PID #001035A), Bid No: 21-0708-CP(AJM)** said Agreement being made a part of this Bond by this reference.

NOW, THEREFORE, THE CONDITION OF THIS BOND IS THAT IF THE PRINCIPAL:

- Shall promptly make payments to all claimants as defined in section 255.05(I), Florida Statutes, Supplying the Principal with labor, materials or supplies, as used directly or indirectly by the Principal in the prosecution of the Work provided for in the Agreement and;
- Shall pay the County for all losses, damages, expenses, costs and attorneys' fees, including appellate proceedings, that the
 County sustains because of a default by the Principal in contravention to the Agreement in regard to payment for such labor,
 materials, or supplies furnished to the Principal; then this bond is void; otherwise this Bond remains in full force and effect.

BE IT FURTHER KNOWN:

24 0700 CD/A IM

- 1. Any changes in or under the Agreement and compliance or noncompliance with any formalities Connected with the said Agreement or alterations, which may be made in the terms of said Agreement, or in the Work to be done under it, or the giving by the County of any extension of time for the performance of the said Agreement, or any other forbearance on the part of the County or Principal to the other, shall not in any way release the Principal and the Surety, or either of them, their heirs, personal representatives, successors or assigns from liability hereunder, notice to the Surety of any such changes, alterations, extensions or forbearance being hereby waived.
- 2. Certain claimants seeking the protection of this Bond must timely comply with the strict Requirements set forth in Section 255.05, Florida Statutes, and as otherwise provided by law.
- The Provisions of this bond are subject to the limitation of Section 255.05(2).



Dana SS of 76

	SECTION	Page 67 of 76
	3EC HOP	BOND NO
cution of this bond, the Surety ackno nent and hereby satisfies those condition	owledges that it has read ons.	the Surety qualifications and obligations imposed by the
BOND DATE THE te of issue by the Surety or by the Sure	DAY OF	,20
e of issue by the Surety or by the Sure		
	AMERICA	N EMPIRE BUILDERS, INC.
		PRINCIPAL:
		(Authorized Signature)
		(Print Name)
		(Finit Name)
		(Title)
		(· · · · · · · · · · · · · · · · · · ·
		A STATE OF THE STA
		(Business Address)
		(Basilioss / tadiosc)
STATE OF FLORIDA		
COUNTY OF		
The foregoing instrument was a	acknowledged before me t	this
The letegoning mendinent was t		
Ву		

21-0708-CP(AJM)	Page 68 of 76
SE	CTION } - BONDS
	BOND NO
	SURETY:
	(Print)
	(1 1111)
	
	/D
	(Business Address)
	(Signature As Attorney In Fact)
	(Attach Power of Attorney)
	(Print Name)
	(Fink Hamo)
	(Title)
	,
	(Business Address)
	(======================================
	(Telephone Number)
STATE OF FLORIDA	
COUNTY OF	
The foregoing instrument was acknowledged befo	ore me this
Ву	
Of ,	a
License as identification and who did (did not) take	e is personally known to me or has produced Florida Driver's
License as identification and who did (did not) take	e an oau.
	Notary:
	Print Name:
	Commission Number:
	My Commission Expires:

21	-07	'በ요.	CP	íΔ	IBAN
~	-U1	UO-	-	,	JIVEJ

Page 69 of 76

SECTION J – AFFIDAVIT OF RELEASE AND GUARANTEE

SECTION J - AFFIDAVIT OF RELEASE AND GUARANTEE:

STATE OF FLORIDA COUNTY OF	
Before me, the undersigned authority, personally appeared who after being duly sworn, deposes and says:	·
any payment bond might be filed, have been fully sat	ID #001035A), Bid No: 21-0708-CP(AJM) for which a lien or a demand agains isfied and paid or will be fully satisfied and paid promptly upon receipt of paymen y, defend and save harmless the County from all demands, suits, actions, claims
claims, demands, damages, costs and expenses, ag	material men, successors and assigns, the Contractor releases and waives al ainst the Board of County Commissioners of Pinellas County, relating in any way ad Agreement, for the period from the date of execution of the Agreement through ent.
numbered Agreement, and acknowledges that those	or warranties and guarantees contained in the General Conditions of the above provisions shall have the same force and effect as if this Affidavit had not been es are not limited by same but are in addition to any other remedies provided by
This Affidavit is given in connection with the Contract	tors application for Final Payment.
FURTHER AFFIANT SAYETH NAUGHT.	
(Affi	ant)
STATE OF FLORIDA COUNTY OF	
The foregoing instrument was acknowledg	ed before me this
Ву	who is personally known to me and/or has produced
	As identification.
	Signature of Person Taking Acknowledgement
	Name of Acknowledger Types, Printed or Stamped

APPENDIX 1 - PERMITS

APPENDIX 1 - PERMITS:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

REFER TO APPENDIX 1- PERMITS ATTACHED AS A SEPARATE DOCUMENT

APPENDIX 2 - SAMPLE CHANGE ORDER

APPENDIX 2 - SAMPLE CHANGE ORDER:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A) Bid No: 21-0708-CP(AJM)

SAMPLE CHANGE ORDER PINELLAS COUNTY PURCHASING DEPARTMENT CLEARWATER, FLORIDA FISCAL NO. ____ CHANGE ORDER NO. ACCOUNT NO. ___ то ____ **Total Agreement** FOR Addition IN CONNECTION WITH _____ **New Total** Deletion New Total Agreement Execution by the contractor of this Change Order shall be considered a waiver of all claims or request for additional time or compensation for any activities prior to time of execution related to items included in the Change Order. The contractor also acknowledges that payment authorized by this Change Order represents full and complete compensation for labor, materials, incidental expenses, overhead profit, impact cost, and time associated with this Work. Claim procedures are outlined in the Contract documents. Investigator Director of Purchasing APPROVED AS TO FORM: Accepted this ____ day of OFFICE OF COUNTY ATTORNEY 20 ____ **PINELLAS COUNTY** BOARD OF COUNTY COMMISSIONERS Attorney Chairman Attest: KEN BURKE, CLERK Deputy Clerk Use Authorized Signatures Only Company Title

Witness

APPENDIX 3 – SAMPLE APPLICATION FOR PAYMENT

APPENDIX 3 - SAMPLE APPLICATION FOR PAYMENT

PINELLAS COUNTY APPLICATION AND CERTIFICATE FOR PAYMENT Bid Title: Oakwood Drive Bridge Replacement (PID #001035A) Bid No: 21-0708-CP(AJM)

Fro	m (Contractor	Name)		Pli	nellas County Department
	pplication Nun Irder Number	nber			
Payment I	Period From:			to	_
	CHANGE ORD			PAYMENT S	UMMARY
Change Order #	Date Approved	Additions	Deductions	Original Agreement Amount	\$
· · · · · ·				Net Change by Change Order	\$
				Agreement Sum to Date	\$
				Total Completed to Date	<u>\$</u>
				Stored Materials to Install	\$
				TOTAL	\$
				Retainage	%
,				Total Earned Less Retainage	<u></u> \$
			-	Less Previous Payments	\$
TOTAL NET CHAN	NGE			Current Payment Due	\$
	at the payment e with the tern			APPLICATION FOR PAYMENT AP	PROVED BY:
dated	an have been use	d that previo	ous ligations	Consultant or Design Professiona	al/Engineer of Record
conjunction with the co	on with this pro ontract documention of	oject. In acc ents and in	ordance	Pinellas County (Dept)	Engineering Project Manager
and waive	s for itself and	Contractor" its subcont) releases ractors,	Pinelias County Public Works	
claims der expenses, against the of Pinellas governing ("County" performan contractor	mands, damage whether in cone Board of County, Florice Board of the Forestellar and ce of the agrees and owner, diod from	es, costs an ntract or in to inty Commis da, Ex Offici- Pinellas Cou y way to the ement between lated	d ort, ssioners o the nty	Director of	(Dept)
Contractor	-		Date		

APPENDIX 4 - SPECIAL NOTICES

APPENDIX 4 - SPECIAL NOTICES:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

REFER TO APPENDIX 4 - SPECIAL NOTICES

APPENDIX 5 - OTHER UTILITIES

APPENDIX 5 - OTHER UTILITIES:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

OTHER UTILITIES

NOT APPLICABLE

APPENDIX 6 - REPORTS

APPENDIX 6 - REPORTS:

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A)

Bid No: 21-0708-CP(AJM)

REPORTS

TITLE

PAGE NO. (s)

Utility Technical Specifications

Separate PDF

APPENDIX 7 - SBE COMPLIANCE FORM

APPENDIX 7 - SBE COMPLIANCE FORM

Bid Title: Oakwood Drive Bridge Replacement (PID #001035A) Bid No: 21-0708-CP(AJM)

Mandatory SBE		
PRIME CONTRACTO		.
SUBCONTRACTOR(5) INFORMATION:	
COMPANY:		COMPANY:
ADDRESS		ADDRESS:
AMOUNT OF SUBCONTRACTED	WORK _\$	AMOUNT OF SUBCONTRACTED WORK \$
CONTACT:		CONTACT
EMAIL:		EMAIL:
TELEPHONE		TELEPHONE
COMPANY:		COMPANY:
ADDRESS:		ADDRESS:
AMOUNT OF SUBCONTRACTED	WORK \$	AMOUNT OF SUBCONTRACTED WORK \$
CONTACT:		CONTACT:
EMAIL:		EMAIL:
TELEPHONE		TELEPHONE
urther understand a	nd agree that this Compliance Fo	nce Form is true and complete to the best of my knowledge and belief. orm shall become a part of my contract with Pinellas County.
	FOR PINE	LLAS COUNTY USE ONLY:
	riewed this Compliance Form and t to Bid SBE goals.	found the Bidder IS IS NOT in compliance with the
Purchasi	ng Staff Member:	
		I

Cllent#: 720292

AMERIEMPIR

 $ACORD_{\scriptscriptstyle{\sqcap}}$

CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY)

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED

REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer any rights to the certificate holder in lieu of such endorsement(s).

PRODUCER	CONTACT Shelagh B. Matheny		· ·
Marsh & McLennan Agency	PHONE (A/C, No, Ext): 727 447-6481	FAX (A/C, No):	
Bouchard Region	E-MAIL ADDRESS: certificates@bouchardins	urance.com	
101 N. Starcrest Drive	INSURER(S) AFFORDING	COVERAGE	NAIC#
Clearwater, FL 33765	INSURER A : AIX Specialty Insurance Comp	any	12833
INSURED	INSURER B : StarStone Specialty Insurance	44776	
American Empire Builders, Inc.	INSURER C : StarNet Insurance Company		40045
13775 SW 145th CT	INSURER D : Allied World Assurance Compa	any (U.S.) I	19489
Suite B	INSURER E : Vantapro Specialty Insurance	Company	44768
Miami, FL 33186	INSURER F : Charter Oak Fire Insurance Co		25615

COVERAGES

CERTIFICATE NUMBER:

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS

INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

	KCLUSIONS AND CONDITIONS OF SUCH						MS.	
INSR LTR	TYPE OF INSURANCE	ADDL INSR	SUBR WVD	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	S
Α	X COMMERCIAL GENERAL LIABILITY	Y	Υ	L1JH42671400	12/08/2020	12/08/2021		\$1,000,000
	CLAIMS-MADE X OCCUR						DAMAGE TO RENTED PREMISES (Ea occurrence)	\$100,000
1	X BI/PD Ded:5,000						MED EXP (Any one person)	\$5,000
	·	ļ					PERSONAL & ADV INJURY	\$1,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER:						GENERAL AGGREGATE	\$2,000,000
	POLICY X PRO-						PRODUCTS - COMP/OP AGG	\$2,000,000
	OTHER:	<u> </u>						\$
E	AUTOMOBILE LIABILITY	Y	Y	5087027302	12/08/2020	12/08/2021	COMBINED SINGLE LIMIT (Ea accident)	\$1,000,000
	X ANY AUTO						BODILY INJURY (Per person)	\$
	OWNED SCHEDULED AUTOS]		BODILY INJURY (Per accident)	\$
	X HIRED AUTOS ONLY X NON-OWNED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$
								\$
В	UMBRELLA LIAB X OCCUR	Y	Υ	89186A200ALI	12/08/2020	12/08/2021	EACH OCCURRENCE	\$5,000,000
	X EXCESS LIAB CLAIMS-MADE						AGGREGATE	\$5,000,000
	DED RETENTION\$							\$
С	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y/N		Υ	KEY0138563211	01/01/2021	12/08/2021	X PER OTH- STATUTE ER	
	ANY PROPRIETOR/PARTNER/EXECUTIVE N	N/A					E.L. EACH ACCIDENT	\$1,000,000
	(Mandatory in NH)						E,L. DISEASE - EA EMPLOYEE	\$1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$1,000,000
D	Pollution Liab.		Υ	03128724	05/07/2021	12/08/2021	Occ: \$2,000,000	
	Professional Liab		Y				Agg: \$2,000,000	
F	Rent/Leased Equip			QT6605N315142TIL	09/04/2021	12/08/2021	\$2,000,000 Each Iter	n

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

If required by written contract, Certificate Holder is an additional insured with respect to General Liability, Auto Liability, and Excess Liability, subject to the terms, conditions and exclusions of the policies. Additional insured with respect to General Liability includes ongoing and completed operations. Coverage with respect to General Liability is primary and noncontributory. (See Attached Descriptions)

CERTIFICATE HOLDER	CANCELLATION
For Information Purposes Only	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
	AUTHORIZED REPRESENTATIVE
	Jaklady

© 1988-2015 ACORD CORPORATION. All rights reserved.

DESCRIPTIONS (Continued from Page 1)
When required by written contract, waiver of subrogation applies in favor of Certificate Holder with respect to General Liability, Auto Liability, Workers Comp, Professional Liability, Pollution Liability, and Excess Liability subject to the terms, conditions and exclusions of the policy.
There are no exclusions for Jib, Boom and/or Overload on the Rented/Leased Equipment policy.



Florida Department of Transportation

RON DESANTIS GOVERNOR 605 Suwannee Street Tallahassee, FL 32399-0450 KEVIN J. THIBAULT, P.E. SECRETARY

June 8, 2021

AMERICAN EMPIRE BUILDERS, INC. 13775 SW 145 CT MIAMI, FLORIDA 33186

RE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam:

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2022. However, the new application is due 4/30/2022.

In accordance with S.337.14 (1) F.S. your next application <u>must be</u> filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: HTTPS://fdotwp1.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

FDOT APPROVED WORK CLASSES:

DRAINAGE, INTERMEDIATE BRIDGES, MINOR BRIDGES, R&R INTERMEDIATE BRIDGES ("R&R" IS REPAIR AND REHABILITATE), R&R MINOR BRIDGES, SIDEWALK, Retaining Walls, Rip Rap, Seawalls, Steel sheet piles.

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." If certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Darlene Anderson, for

Alan Autry, Manager Contracts Administration Office

AA:cg

Ron DeSantis, Governor

Halsey Beshears, Secretary



CONSTRUCTION INDUSTRY LICENSING BOARD

THE GENERAL CONTRACTOR HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

GONZALEZ, ANTONIO MARIO

AMERICAN EMPIRE BUILDERS INC 13775 SW 145TH CT SUITE B

MIAMI

FL 33186

LICENSE NUMBER: CGC1504911

EXPIRATION DATE: AUGUST 31, 2022

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.

State of Florida Department of State

I certify from the records of this office that AMERICAN EMPIRE BUILDERS, INC. is a corporation organized under the laws of the State of Florida, filed on October 16, 2001.

The document number of this corporation is P01000100485.

I further certify that said corporation has paid all fees due this office through December 31, 2021, that its most recent annual report/uniform business report was filed on February 17, 2021, and that its status is active.

I further certify that said corporation has not filed Articles of Dissolution.

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capital, this the Seventeenth day of February, 2021



Ranuly Ru-Secretary of State

Tracking Number: 8366974547CC

To authenticate this certificate, visit the following site, enter this number, and then follow the instructions displayed.

https://services.sunbiz.org/Filings/CertificateOfStatus/CertificateAuthentication



Department of State / Division of Corporations / Search Records / Search by Entity Name /

Detail by Entity Name

Florida Profit Corporation AMERICAN EMPIRE BUILDERS, INC.

Filing Information

Document Number

P01000100485

FEI/EIN Number

75-2993152

Date Filed

10/16/2001

State

FL

Status

ACTIVE

Principal Address

13775 SW 145TH CT

Suite B

MIAMI, FL 33186

Changed: 06/04/2018

Mailing Address

13775 SW 145TH CT

Suite B

MIAMI, FL 33186

Changed: 06/04/2018

Registered Agent Name & Address

GONZALEZ, ANTONIO M 13775 SW 145TH CT

Suite B

MIAMI, FL 33186

Name Changed: 04/03/2002

Address Changed: 06/04/2018

Officer/Director Detail

Name & Address

Title PVD

GONZALEZ, ANTONIO M 13775 SW 145TH CT

Suite B

MIAMI, FL 33186

Title STD

GONZALEZ, GISEL 13775 SW 145TH CT Suite B MIAMI, FL 33186

Annual Reports

Report Year	Filed Date
2019	05/01/2019
2020	05/29/2020
2021	02/17/2021

Document Images

02/17/2021 ANNUAL REPORT	View image in PDF format
05/29/2020 ANNUAL REPORT	View image in PDF format
05/01/2019 ANNUAL REPORT	View image in PDF format
06/04/2018 ANNUAL REPORT	View image in PDF format
04/29/2017 ANNUAL REPORT	View image in PDF format
04/05/2016 ANNUAL REPORT	View image in PDF format
04/30/2015 ANNUAL REPORT	View image in PDF format
01/28/2014 ANNUAL REPORT	View image in PDF format
01/21/2013 ANNUAL REPORT	View image in PDF format
01/05/2012 ANNUAL REPORT	View image in PDF format
04/27/2011 ANNUAL REPORT	View image in PDF format
01/14/2010 ANNUAL REPORT	View image in PDF format
05/01/2009 ANNUAL REPORT	View image in PDF format
04/30/2008 ANNUAL REPORT	View image in PDF format
02/08/2007 ANNUAL REPORT	View image in PDF format
04/28/2006 ANNUAL REPORT	View image in PDF format
04/22/2005 ANNUAL REPORT	View image in PDF format
04/28/2004 ANNUAL REPORT	View image in PDF format
04/02/2003 ANNUAL REPORT	View image in PDF format
04/03/2002 ANNUAL REPORT	View image in PDF format
11/13/2001 Reg. Agent Change	View image in PDF format
10/16/2001 Domestic Profit	View image in PDF format
-	

Florida Department of State, Division of Corporations

Document A310TM – 2010

Conforms with The American Institute of Architects AIA Document 310

Bid Bond

CONTRACTOR:

SURETY:

(Name, legal status and address)

(Name, legal status and principal place of business)

American Empire Builders, Inc. 13775 S.W. 145th Court, Suite B NGM Insurance Company

55 West Street Keene, NH 03431 This document has important legal consequences. Consultation with an attorney is encouraged with respect to its completion or

Any singular reference to Contractor, Surety, Owner or

plural where applicable.

other party shall be considered

Miami, FL 33186

modification.

OWNER:

(Name, legal status and address)

Pinellas County Board of County Commisioners

400 South Ft. Harrison Avenue, Annex Building - 6th Floor

Clearwater, FL 33756

Five Percent of Amount Bid

BOND AMOUNT: \$ 5%

PROJECT:

(Name, location or address, and Project number, if any)

Oakwood Drive Bridge Replacement (PID #001035A) - Bid No. 21-0708-CP(AJM)

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and scaled this

14th

day of October, 2021

(Witness)

(Witness) Dania Banks

American Empire Builders

(Princip

NGM Insurance Company

(Surety)

(Seal)

(Seal)

(Title) lan A. Nipper

Attorney-in-Fact



POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That NGM Insurance Company, a Florida corporation having its principal office in the City of Jacksonville, State of Florida, pursuant to Article IV, Section 2 of the By-Laws of said Company, to wit:

"Article IV, Section 2. The board of directors, the president, any vice president, secretary, or the treasurer shall have the power and authority to appoint attorneys-in-fact and to authorize them to execute on behalf of the company and affix the seal of the company thereto, bonds, recognizances, contracts of indemnity or writings obligatory in the nature of a bond, recognizance or conditional undertaking and to remove any such attorneys-in-fact at any time and revoke the power and authority given to them."

does hereby make, constitute and appoint Jarrett Merlucci, Charles D. Nielson, Joseph P. Nielson, David R. Hoover, Charles J. Nielson, Ian A Nipper, Brett Rosenhaus-----

its true and lawful Attorneys-in-fact, to make, execute, seal and deliver for and on its behalf, and as its act and deed, bonds, undertakings, recognizances, contracts of indemnity, or other writings obligatory in nature of a bond subject to the following limitation:

1. No one bond to exceed Five Million Dollars (\$5,000,000.00)

and to bind NGM Insurance Company thereby as fully and to the same extent as if such instruments were signed by the duly authorized officers of NGM Insurance Company; the acts of said Attorney are hereby ratified and confirmed.

This power of attorney is signed and sealed by facsimile under and by the authority of the following resolution adopted by the Directors of NGM Insurance Company at a meeting duly called and held on the 2nd day of December 1977.

Voted: That the signature of any officer authorized by the By-Laws and the company seal may be affixed by facsimile to any power of attorney or special power of attorney or certification of either given for the execution of any bond, undertaking, recognizance or other written obligation in the nature thereof; such signature and seal, when so used being hereby adopted by the company as the original signature of such office and the original seal of the company, to be valid and binding upon the company with the same force and effect as though manually affixed.

IN WITNESS WHEREOF, NGM Insurance Company has caused these presents to be signed by its Vice President, General Counsel and Secretary and its corporate seal to be hereto affixed this 7th day of January, 2020.

NGM INSURANCE COMPANY By:

Kimbuly K. Law
Kimberly K. Law
Vice President, General
Counsel and Secretary

Loak Pente

State of Florida, County of Duyal.

On this 7th day of January, 2020, before the subscriber a Notary Public of State of Florida in and for the County of Duval duly commissioned and qualified, came Kimberly K. Law of NGM Insurance Company, to me personally known to be the officer described herein, and who executed the preceding instrument, and she acknowledged the execution of same, and being by me fully sworn, deposed and said that she is an officer of said Company, aforesaid: that the seal affixed to the preceding instrument is the corporate seal of said Company, and the said corporate seal and her signature as officer were duly affixed and subscribed to the said instrument by the authority and direction of the said Company; that Article IV, Section 2 of the By-Laws of said Company is now in force.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my official seal at Jacksonville, Florida this 7th day of January, 2020.

I, Nancy Giordano-Ramos, Vice President of NGM Insurance Company, do hereby certify that the above and foregoing is a true and correct copy of a Power of Attorney executed by said Company which is still in full force and effect.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the seal of said Company at Jacksonville, Florida this

14th day of October , 2021

WARNING: Any unauthorized reproduction or alteration of this document is prohibited. TO CONFIRM VALIDITY of the attached bond please call 1-800-225-5646.

TO SUBMIT A CLAIM: Send all correspondence to 55 West Street, Keene, NH 03431 Attn: Bond Claims.

	Section E - Bid Submittal Sheet			
Project Code:	001035A			
Project Title:	Oakwood Drive Bridge Replacement			
Bid No.:	21-0708-CP(AJM)			
		Bid Total	\$3,333,215.61	

							Bid Total		\$3,333,215.61
1									
	Line No.	· ·	DESCRIPTION	QUANTITY	UNIT		PRICE		TOTAL
1	1		Surveying and Layout by Contractor	1	19	s	28 875 00	\$	28 875 00
1				1	LO	Þ	20,070.00	Ф	28,875.00
1				1	LS	\$	3,000.00	\$	3,000.00
1 LS \$ 297,74000 \$ 297,74000 \$ 297,74000 \$ 102,7000 \$ 12	56	005-0850	SURVEY, Permitting As-built Requirements	1	LS	\$	8,925.00	\$	8,925.00
1									
1 LS \$ 150,000.00 S 150,000.00	55	101-0100	Mobilization	1	LS	\$	297,740.00	\$	297,740.00
102-1999 SIGN, VARIABLE MESSAGE (S Lines) (Temporary) 948 ED \$ 12.60 \$ 11,944.80	58	102-1000	MAINTENANCE OF TRAFFIC						
Table Transfer Signal FOR LANE CLOSURE ON TWO FOR Table Ta				1	LS	\$	150,000.00	\$	150,000.00
102-120	1	102-1099	SIGN, VARIABLE MESSAGE (3 Lines) (Temporary)						
LANE, TWO-WAY ROADS. 920 ED \$ 809.30 \$ 03.759.00				948	ED	\$	12.60	\$	11,944.80
102-1250	73	102-120							
MAINTENANCE			2	920	ED	\$	69.30	\$	63,756.00
MAINTENANCE									
BARRIER WALL, CONCRETE, Teleporary), Per Del sid. 275	65	102-1250	MAINTENANCE	44	CY	\$	48.00	\$	2,112.00
2	66		BARRIER WALL, CONCRETE (Temporary), Per DEI std. Tech. Spec 102-1000	275	LF	\$	30.46	\$	8,376.50
Spec. 102-1001	2	102-1301	BARRIER WALL, CONCRETE, Relocate (Temporary), Per	471	LF	\$	13.30	\$	6,264.30
Installation & Removal 2-99 51 5 5-95-99 5 10-25-30 6 10-25-30 7 7 10-25-30 7 10-25	_	102-1501	Spec. 102-1000						
102-74-2	3			285			56.96	\$	16,233.60
102-89-1 TEMP_CRASH_CUSHIONS_REDIRECTIVE	4	102-1802	PAVEMENT MARKING, ent/Temporary All widths	1429	LF	\$	3.15	\$	4,501.35
TEMP, RAISED RUMBLE STRIPS									
104-1									
104-16 SEDIMENT BARRIER, POLICUION 104-16 SEDIMENT BARRIER, POLICUION 104-16 SEDIMENT BARRIERS 666 LF \$ 4.00 \$ 2,664.00 68 104-7 INLET PROTECTION SYSTEMS 6 EA \$ 1,580.00 \$ 9,480.00 69 110-0100 CLEARING & GRUBBING 1 LS \$ 85,000.00 \$ 85,000.00 7 110-3000 STRUCTURE, REMOVAL OF EXISTING 1 LS \$ 173,597.00 \$ 173,597.00 8 120-1202 DREDGING, Mechanical 1 LS \$ 10,000.00 \$ 10,000.00 10 100-0009 STABILIZATION, Type B, LBR 40,9° Min. Thickness 875 SY \$ 42,57 \$ 37,248.75 11 204-1040 Min. LBR 100,4° Min. Thickness Graded Aggregate, Nin. LBR 100,6° Min. Thickness Graded Aggregate, Nin. LBR 100,6° Min. Thickness SUPERPAVE ASPHALT CONCRETE, Type SP 9.5, Fine, Traffic Level C, Variable Thickness 86 TN \$ 660.44 \$ 56,797.84 14 339-1 ASPHALT, MISCELLARECOU. Fair Sept.									
6 104-6 SEDIMENT BARRIERS 666 LF \$ 4.00 \$ 2,684.00 68 104-7 INLET PROTECTION SYSTEMS 6 EA \$ 1,580.00 \$ 9,480.00 69 110-0100 CLEARING & GRUBBING 1 LS \$ 85,000.00 \$ 85,000.00 7 110-3000 STRUCTURE, REMOVAL OF EXISTING 1 LS \$ 173,597.00 \$ 173,597.00 8 120-1100 GRADING 1 LS \$ 1173,597.00 \$ 173,597.00 8 120-1100 GRADING 1 LS \$ 18,927.75 \$ 18,927.75 9 120-1222 DREDGING, Mechanical 1 LS \$ 10,000.00 \$ 10,000.00 10 160-00009 STABILIZATION, Type B, LBR 40, 9° Min. Thickness 875 SY \$ 42,57 \$ 37,248.75 11 204-1040 ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. LBR 100, 4° Min. Thickness 875 SY \$ 42,57 \$ 37,248.75 11 204-1040 ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. LBR 100, 4° Min. Thickness 875 SY \$ 64.67 \$ 3,492.18 ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. LBR 100, 4° Min. Thickness 875 SY \$ 65.85 \$ 47.214.45 Min. Thickness 9 SUPERRAVE ASPHALT CONCRETE, Type SP 9.5, Fine, Traffic Level, C variable Thickness 9 SUPERRAVE ASPHALT CONCRETE, Type SP 9.5, Fine, Traffic Level, C variable Thickness 9 SUPERRAVE ASPHALT PAVEMENT, 1-1/2° Average Depth MILLING ESTING ASPHALT PAVEMENT, 1-1/2° Average Depth SISTING ASPHALT PAVEMENT, 1-1/2° Average 93 SY \$ 38.98 \$ 11.421.14 12 400-148 PLAIN NEOFERS EQUARING PADS 100-10 CONCRETE CLASS II, Approach Siabs 60.4 CY \$ 806.06 \$ 50,775.86 179 400-447 SHRINKAGE REDUCING ADMINTURE 104-47 SHRINKAGE REDUCING ADMINTURE 50.3 CY \$ 1,651.61 \$ 83,075.98 19 400-44.8 CONCRETE CLASS IV, Substructure 50.3 CY \$ 1,651.61 \$ 83,075.98 19 400-44.8 CONCRETE CLASS IV, Substructure 50.3 CY \$ 1,651.61 \$ 83,075.98 19 400-44.8 CONCRETE CLASS IV, Substructure 7714 LB \$ 1.33 \$ 11,774.70 12 EA \$ 1,551.44 REINFORCING STEEL, Substructure 7714 LB \$ 1.33 \$ 11,774.70 12 EA \$ 1,551.44 REINFORCING STEEL, Substructure 7714 LB \$ 1.33 \$ 1.450.41 8 11.774.70 12 EA \$ 9,393.34 \$ 14,507.10 12 EA \$ 9,393.34 \$ 18,786.88 12 EA \$ 1,507.10 EA \$ 1,507.10 EA \$ 1,507.1					-	-			
104-7 INLET PROTECTION SYSTEMS 6 EA \$ 1,580.00 \$ 9,480.00			SEDIMENT BARRIERS		-				
110-0100 CLEARING & GRUBBING 1 LS \$ 85,000.00 \$ 85,000.00 \$ 7 110-3000 STRUCTURE, REMOVAL OF EXISTING 1 LS 173,597.09 \$ 173,597.09 \$ 173,597.09 \$ 173,597.09 \$ 172,597.09 \$ 172,597.09 \$ 120-1222 DREDGING, Mechanical 1 LS 18,927.75 \$ 18,927.75 \$ 18,927.75 \$ 18,927.75 \$ 120-1222 DREDGING, Mechanical 1 LS 10,000.00 \$ 10,			INLET PROTECTION SYSTEMS						
7 110-3000 STRUCTURE, REMOVAL OF EXISTING 1 LS \$ 173,597.09 \$ 173,597.09 8 120-1100 GRADING 1 LS \$ 18,927.75 \$ 18,927.75 9 120-1222 DREDGING, Mechanical 1 LS \$ 10,000.00 \$ 10,000.00 10 160-0009 STABILIZATION, Type B, LBR 40, 9° Min. Thickness 875 SY \$ 42.57 \$ 37,248.75 11 204-1040 ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. LBR 100, 4° Min. Thickness 54 SY \$ 64.67 \$ 3,492.18 12 204-1060 Min. LBR 100, 4° Min. Thickness 717 SY \$ 65.85 \$ 47,214.45 13 334-3095-000 SUPERFANDE ASPHALT CONCRETE, Type SP 9.5, Fine, Time Level C, Variable Thickness 86 TN \$ 660.44 \$ 56,797.84 14 339-1 ASPHALT, MISCELLANGE ONE 7.8 TN \$ 660.44 \$ 56,797.84 15 380-1150 Bull LING EXISTING ASPHALT PAYEMENT, 1-12° Average 293 SY \$ 3.89.81 \$ 11,421.44 22 400-148 <td< td=""><td></td><td></td><td>CLEARING & GRUBBING</td><td></td><td>-</td><td></td><td></td><td></td><td></td></td<>			CLEARING & GRUBBING		-				
8			STRUCTURE, REMOVAL OF EXISTING		-		•	-	
9 120-1222 DREDGING, Mechanical 1 LS \$ 10,000.00 \$ 10,000.00 10 160-0009 STABILIZATION, Type B, LBR 40, 9° Min. Thickness 875 SY \$ 42.57 \$ 37,248.75 11 204-1040 ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. LBR 100, 4° Min. Thickness ROADWAY BASE, Crushed Concrete/Graded Aggregate, Min. Thickness Min. LBR 100, 6° Min. Thickness Nin. Thi			GRADING		-				
10			DREDGING, Mechanical						
11									
12	11	204-1040	Min. LBR 100, 4" Min. Thickness	54	SY	\$	64.67	\$	3,492.18
13 334-3095-000 SUPERPAVE ASPHALT CONCRETE. Type SP 9.5, Fine, 14 339-1 ASPHALT, MISCELLANEOUS 7.8 TN \$ 660.44 \$ 56,797.84 14 339-1 ASPHALT, MISCELLANEOUS 7.8 TN \$ 791.15 \$ 6,170.97 15 380-1150 MILLING EXISTING ASPHALT PAVEMENT, 1-1/2" Average 293 SY \$ 38.98 \$ 11,421.14 Depth 200.00 Dept	12	204-1060	Min. LBR 100, 6"	717	SY	\$	65.85	\$	47,214.45
14 339-1 ASPHALT, MISCELLANEOUS 7.8 TN \$ 791.15 \$ 6,170.97	13	334-3095-000	SUPERPAVE ASPHALT CONCRETE, Type SP 9.5, Fine,	86	TN	\$	660.44	\$	56,797.84
Depth Dept			ASPHALT, MISCELLANEOUS						
16			Depth	293		ı			
20 400-4-47 CONCRETE CLASS IV, CAST IN PLACE TOPPING WITH 31.4 CY \$ 1,876.86 \$ 58,933.40	16	400-2-10	CONCRETE CLASS II, Approach Slabs	60.4	CY	\$	840.66	\$	50,775.86
18			CONCRETE CLASS IV, CAST IN PLACE TOPPING WITH						
19 400-4-8 CONCRETE CLASS IV, Bulkhead 34.3 CY \$ 1,631.34 \$ 55,954.96 21 400-7 BRIDGE FLOOR GROOVING 102 SY \$ 49.66 \$ 5,065.32 23 415-1-4 REINFORCING STEEL, Superstructure 8722 LB \$ 1.35 \$ 11,774.70 24 415-1-5 REINFORCING STEEL, Substructure 7714 LB \$ 1.35 \$ 10,413.90 25 415-1-7 REINFORCING STEEL, Bulkhead 5100 LB \$ 1.35 \$ 6,885.00 26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8, 5' Diameter < 10' 2 EA \$ 9,393.34 \$ 18,786.68 27 425-701-3636 INLET, Curb, PCED Type RC-3, 3'-6" < 10' 2 EA \$ 13.296.24 \$ 26,592.48 30 430-121-0018 PIPE CULVERT, CONCRETE, Round, 18" ID 15 LF \$ 463.20 \$ 6,948.00							•		
21 400-7 BRIDGE FLOOR GROOVING 102 SY \$ 49.66 \$ 5,065.32 23 415-1-4 REINFORCING STEEL, Superstructure 8722 LB \$ 1.35 \$ 11,774.70 24 415-1-5 REINFORCING STEEL, Substructure 7714 LB \$ 1.35 \$ 10,413.90 25 415-1-7 REINFORCING STEEL, Buikhead 5100 LB \$ 1.35 \$ 6,885.00 26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8. 5' Diameter < 10'			CONCRETE CLASS IV, Bulkhead						
23 415-1-4 REINFORCING STEEL, Superstructure 8722 LB \$ 1.35 \$ 11,774.70 24 415-1-5 REINFORCING STEEL, Substructure 7714 LB \$ 1.35 \$ 10,413.90 25 415-1-7 REINFORCING STEEL, Bulkhead 5100 LB \$ 1.35 \$ 6,885.00 26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8. 5' Diameter < 10'			BRIDGE FLOOR GROOVING						
24 415-1-5 REINFORCING STEEL, Substructure 7714 LB \$ 1.35 \$ 10,413.90 25 415-1-7 REINFORCING STEEL, Bulkhead 5100 LB \$ 1.35 \$ 6,885.00 26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8, 5' Diameter < 10'			REINFORCING STEEL, Superstructure		-				
25 415-1-7 REINFORCING STEEL, Bulkhead 5100 LB \$ 1.35 \$ 6,885.00 26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8, 5' Diameter < 10'			REINFORCING STEEL, Substructure						
26 415-1-8 REINFORCING STEEL, Approach Slab 10746 LB \$ 1.35 \$ 14,507.10 28 425-631-5001 MANHOLE, FDOT Type J-8, 5' Diameter < 10'			REINFORCING STEEL, Bulkhead						
28			REINFORCING STEEL, Approach Slab						
27 425-701-3636 INLET, Curb, PCED Type RC-3, 3'-6" x 3'-6", < 10' 2 EA \$ 13,296.24 \$ 26,592.48 30 430-121-0018 PIPE CULVERT, CONCRETE, Round, 18" ID 15 LF \$ 463.20 \$ 6,948.00			MANHOLE, FDOT Type J-8, 5' Diameter < 10'						
			INLET, Curb, PCED Type RC-3, 3'-6" x 3'-6", < 10'						
31 430-121-0024 PIPE CULVERT, CONCRETE, Round, 24° ID 4 LF \$ 1,011.05 \$ 4,044.20	30	430-121-0018	PIPE CULVERT, CONCRETE, Round, 18" ID	15	LF	\$	463.20	\$	6,948.00
	31	430-121-0024	PIPE CULVERT, CONCRETE, Round, 24" ID	4	LF	\$	1,011.05	\$	4,044.20
32 430-121-0036 PIPE CULVERT, CONCRETE, Round, 36" ID 190 LF \$ 268.04 \$ 50,927.60	32	430-121-0036	PIPE CULVERT, CONCRETE, Round, 36" ID	190	LF	\$	268.04	\$	50,927.60

36								
34	33	430-121-0042	PIPE CULVERT, CONCRETE, Round, 42" ID	193	LF	\$	356.22	\$ 68,750.46
340	29	430-830		1	CY	\$	1,410.76	\$ 1,410.76
450 440-413	34	450-8-11	PRESTRESSED BEAM: FLORIDA SLAB BEAM, BEAM	71	LF	\$	604.02	\$ 42,885.42
32	35	450-8-13	PRESTRESSED BEAM: FLORIDA SLAB BEAM, BEAM DEPTH 12" CARBON STEEL, WIDTH 55-57"	178	LF	\$	508.08	\$ 90,438.24
39			CORE-PILOT HOLE, DRILLED SHAFT EXCAVATION					18,519.84
A A A A A A A A A A	38	455 122 4	UNCLASSIFIED SHAFT EXCAVATION, 42" DIA	312	LF	\$	989.52	\$ 308,730.24
40	39	455 133 2	SHEET PILING, TEMPORARY - CRITICAL	1124	SF	\$	35.76	\$ 40,194.24
64 455-87 ANCHOR BAR, STEEL 35 EA \$ 2,238.0 \$ 78,333.0 41	36	455 88 4	DRILLED SHAFT, 42" DIA	312	LF	\$	1,235.52	\$ 385,482.24
41	40	455-133-1	PILING, SHEET, Steel	3518	SF	\$	47.91	\$ 168,547.38
42	64	455-87	ANCHOR BAR, STEEL	35	EA	\$	2,238.10	\$ 78,333.50
44	41	458-1-11		64	LF	\$	65.00	\$ 4,160.00
43 \$20-1305-1000 CURB & GUTTER, Concrete, Type A, PCED, Index 1305 551 LF \$ 46.00 \$ 25.346.00 45 \$520-4000 TRAFFIC RAIL, BARRIER, Concrete, Bridge, 32' Vertical 87' LF \$ 164.00 \$ 14.286.00 46 \$21-5-1 TRAFFIC RAIL, BARRIER, Concrete, Bridge, 32' F-Shape 87' LF \$ 160.00 \$ 13.320.00 47 \$522-0004 SIDEWALK, CONCRETE, 4' Min. Thickness 24 SY \$ 128.95 \$ 3.094.80 48 \$522-0006 SIDEWALK, CONCRETE, 6' Min. Thickness 24 SY \$ 128.95 \$ 3.094.80 49 \$52-2006 SIDEWALK, CONCRETE, 6' Min. Thickness 245.77 TN \$ 90.00 \$ 22.113.00 49 \$58-1-1 GUARDRAIL, Rondoway 200 LF \$ 55.68 \$ 11.136.00 51 \$538-4001 SRIDGE ANCHORAGE ASSEMBLY, FDOT 2 EA \$ 4.470.90 \$ 8.941.80 50 \$59-73 GUARDRAIL, Rondoway 200 LF \$ 16.84 \$ 2.700.88 62 \$59-86 GUARDRAIL, Rondoway 182 LF \$ 14.84 \$ 2.700.88 62 \$59-86 GUARDRAIL, End Anchorage, Type ET-2000 2 EA \$ 1.736.70 \$ 3.473.40 52 \$575-0110 SODDING, Replace in Kind 1394 SY \$ 4.16 \$ 5.799.04 61 \$70-20-12 SIGN, SINGLE POST -12 ST TO 20 SF 1 A5 \$ 5.500 \$ 5.25.00 53 \$70-20-40 SIGN, SINGLE POST -12 ST TO 20 SF 1 A5 \$ 5.300.00 \$ 2.100.00 60 \$73-76-103 CASING STEEL, OPEN TRENCH, F & 14" - TEMPORARY 26 EA \$ 384.60 \$ 10.000.12 70 800-1002 MALBOXES, RELOCATION 3 EA \$ 1.000 \$ 175.000.00 800-0000 UNSPECIFIED WORK 175000 EA \$ 1.00 \$ 175.000.00 800-0000 UNSPECIFIED WORK 176000 EA \$ 1.00 \$ 1.000.000 SANITARY SEWEY 1 1 1 1 1 1 1 1 1	42	515-4-1	BULLET RAILING, SINGLE RAIL	77	LF	\$	85.58	\$ 6,589.66
45 S20-4000 THAFFIC RAIL BARRIER, Concrete, Bridge, 32" Vertical 87	44	520-1000-1000	CURB & GUTTER, Concrete, FDOT Type F	110	LF	\$	45.00	\$ 4,950.00
Face	43	520-1305-1000		551	LF	\$	46.00	\$ 25,346.00
47	45	520-4000		87	LF	\$	164.00	\$ 14,268.00
A	46	521-5-1	TRAFFIC RAIL BARRIER, Concrete, Bridge, 32" F-Shape	87	LF	\$	160.00	\$ 13,920.00
S30-2000 RIPRAP, Rubble 245.7 TN \$ 90.00 \$ 22,113.00	47	522-0004	SIDEWALK, CONCRETE, 4" Min. Thickness	24	SY	\$	128.95	\$ 3,094.80
49 \$38-1-1 GUARDRAIL, Roadway 200 LF \$ \$5.68 \$ \$ 11,136.00	48	522-0006	SIDEWALK, CONCRETE, 6' Min. Thickness	84	SY	\$	131.38	\$ 11,035.92
Signature Sign	63	530-2000	RIPRAP, Rubble	245.7	TN	\$	90.00	\$ 22,113.00
Solution Solution	49	536-1-1	GUARDRAIL, Roadway	200	LF	\$	55.68	\$ 11,136.00
Solution Solution	51	536-4001	BRIDGE ANCHORAGE ASSEMBLY, FDOT	2	EA	\$	4,470.90	\$ 8,941.80
SODDING, Replace In Kind	50	536-73	GUARDRAIL, REMOVAL	182	LF	\$	14.84	\$ 2,700.88
Sanitary Sewer	62	536-86	GUARDRAIL, End Anchorage, Type ET-2000	2	EA	\$	1,736.70	\$ 3,473.40
Samitary Sewer	52	575-0110	SODDING, Replace In Kind	1394	SY	\$	4.16	\$ 5,799.04
CASING STEEL, OPEN TRENCH, F. & I.4" - TEMPORARY 26	61	700-20-12	SIGN, SINGLE POST - 12 SF TO 20 SF	1	AS	\$	525.00	\$ 525.00
ROLL	53	700-20-40	SIGN, RELOCATE, MULTI-POST	2	AS	\$	1,050.00	\$ 2,100.00
Sanitary Sewer Sanitary Sewer Subtotal: \$ 3,037,907.04	60	730-76-103	CASING STEEL, OPEN TRENCH, F & I 4" - TEMPORARY	26	EA	\$	384.62	\$ 10,000.12
Subtotal: \$ 3,037,907.04	70	800-1602	MAILBOXES, RELOCATION	3	EA	\$	160.00	\$ 480.00
Sanitary Sewer	59	999-0000	UNSPECIFIED WORK	175000	EA	\$	1.00	\$ 175,000.00
Transpage	ROADWAY	/DRAINAGE	<u> </u>		1		SUBTOTAL:	\$ 3,037,907.04
Transpage	Sanitar	Sower				'		
T5	-		4" DI Restrained Joint Pipe & Fittings FM, CL 350	281	LF	\$	230.42	\$ 64,748.02
78	75	SS-333400-304-04P	4" PVC Pipe, C-900 DR 18 (Force Main) - Temporary	223	LF	\$	162.24	\$ 36,179.52
SS-33390-302-9001			2" Air Release Assembly (In-line)					
SANITARY SEWER SUBTOTAL: \$ 132,177.86	80	SS-333900-302-9001		1			4,114.73	\$ 4,114.73
PW-102-1501 PAVEMENT, ASPHALT, Temporary, Includes Base, Installation, & Removal PW-31101-304-02PE9 2" HDPE DR 9, IPS OD (Water Main Tubing) 40			UNSPECIFIED WORK	10000	EA	\$		\$ 10,000.00
PW-31101-304-02PE9	SANITARY	SEWER					SUBTOTAL:	\$ 132,177.86
Statistical Statistics Statistical Statistics Statistical Statistics Sta	Water Ma	in						
Bil PW-331101-304-02PE9 2" HDPE DR 9, IPS OD (Water Main Tubing) 40 LF \$ 373.85 \$ 14,954.00	91	PW-102-1501		50	SY	\$	59.96	\$ 2,998.00
83 PW-331101-304-06P18RJF Temporary 6" PVCRestrained Joint Pipe & Fittings, C-900 DR 18 - Temporary 156 LF \$ 134.02 \$ 20,907.12 84 PW-331101-305-90608 Remove Out of Service Pipe 6" or 8" 55 LF \$ 92.87 \$ 5,107.85 85 PW-331101-309-06RW515 6" RWGV & Box C 515 2 EA \$ 6,513.02 \$ 13,026.04 86 PW-331101-312-06LOS 6" Line Stop 2 EA \$ 6,436.62 \$ 12,873.24 87 PW-331101-312-06LS 6" Line Stop 2 EA \$ 11,991.49 \$ 23,982.98 89 PW-331101-300-0001 Misc. Equipment - Aerial Crossing Support 6 EA \$ 2,398.29 \$ 14,389.74 88 PW-331101-00-0206 Disinfection of 2" to 6" Water Main 290 LF \$ 30,57 \$ 8,865.30 90 PW999-0000 UNSPECIFIED WORK 10000 EA \$ 1.00 \$ 10,000.00			2" HDPE DR 9, IPS OD (Water Main Tubing)					
Section Femorary Temporary Tempora								
85 PW-331101-309-06RW515 6" RWGV & Box C 515 2 EA \$ 6,513.02 \$ 13,026.04 86 PW-331101-312-0606TV 6" Ke" Tapping Sieve Valve & Box 2 EA \$ 6,436.62 \$ 12,873.24 87 PW-331101-312-06LS 6" Line Stop 2 EA \$ 11,991.49 \$ 23,982.98 89 PW-331101-900-0001 Misc. Equipment - Aerial Crossing Support 6 EA \$ 2,398.29 \$ 14,389.74 88 PW-331101-00-0206 Disinfection of 2" to 6" Water Main 290 LF \$ 30.57 \$ 8,665.30 90 PW999-0000 UNSPECIFIED WORK 10000 EA \$ 1.00 \$ 10,000.00			Temporary					
86 PW-331101-312-060STV 6" x 6" Tapping Sleeve Valve & Box 2 EA \$ 6,436.62 \$ 12,873.24 87 PPW-331101-312-06LS 6" Line Stop 2 EA \$ 11,91.49 \$ 23,982.98 89 PW-331101-900-0001 Misc. Equipment - Aerial Crossing Support 6 EA \$ 2,398.29 \$ 14,389.74 88 PW-331301-000-0206 Disinfection of 2" to 6" Water Main 290 LF \$ 30.57 \$ 8,885.30 90 PW999-0000 UNSPECIFIED WORK 10000 EA \$ 1.00 \$ 10,000.00		PW-331101-309-06RW515					6,513.02	\$ 5,107.85 13,026.04
89 PW-331101-900-0001 Misc. Equipment - Aerial Crossing Support 6 EA \$ 2,398.29 \$ 14,389.74 88 PW-331301-000-0206 Disinfection of 2" to 6" Water Main 290 LF \$ 30.57 \$ 8,865.30 90 PW999-0000 UNSPECIFIED WORK 10000 EA \$ 1.00 \$ 10,000.00	86	PW-331101-312-0606TV	6" x 6" Tapping Sleeve Valve & Box	2	EA	\$		12,873.24
88 PW-331301-000-0206 Disinfection of 2" to 6" Water Main 290 LF \$ 30.57 \$ 8,865.30 90 PW999-0000 UNSPECIFIED WORK 10000 EA \$ 1.00 \$ 10,000.00								
	88	PW-331301-000-0206	Disinfection of 2" to 6" Water Main	290	LF	\$	30.57	\$ 8,865.30
WATER MAIN SUBTOTAL: \$ 163,130.71			UNSPECIFIED WORK	10000	EA	\$		
	WATER MA	IN					SUBTOTAL:	\$ 163,130.71